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B.A. Semester-1I Examination, 2022-23

PHILOSOPHY [Honours]
Course ID : 20614 Course Code : AH/PHI/203/GE-2
Course Title : Western Philosophy
[INEW SYLLABUS]
Full Marks : 40

The figures in the right-hand margin indicate marks.

Time : 2 Hours

Candidates are required to give their answers in their
own words as far as practicable.
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1. Answer any five of the following questions:
2x5=10
fasfeiie @-cien “nfb e Tex vie :
a) Who is the father of modern western philosophy?
Y PAEIe] W T I J6 W2
b) How many types of ideas does Descartes admit?
TS T P Il R A0 2

c) Define Substance, after Spinoza.
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d) Why are Leibnitz's monads called 'windowless'?
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g)

h)

What is Substance, according to Locke?

STCPFT O AT & FICF AT ?

What is impression according to Hume?
RSCR 0o I FIF A2

What is meaning of 'Tabula Rasa"?
'Tabula Rasa'-a3 9% 2

What is cartesian doubt
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2. Answer any four of the following questions: 5x4=20
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a)

b)

Give an idea of Descartes theory of the criterion
of truth.
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How does Berkeley reject the Abstract Ideas?
AFCE F Tl S el Qese] S0 2

State Locke's distinction between primary and
secondary qualities.
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Give an account of Spinoza's theory of knowledge.
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How does Hume distinguish between impression

and idea? Explain in brief.
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f)

How does Locke try to refute the existence of

innate ideas?
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3.  Answer any one of the following questions:

10x1=10
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a)

b)

What is the literal meaning of 'Cogito Ergo Sum'?
Following Descartes bring out its full meaning and

significance. 2+8
'Cogito Ergo Sum' 323 wirslss oidf 52 =ie
SepTe e @2 Afelba A o1 @ i fmed w1
Discuss Leibnitz's doctrine of pre-established
harmony.
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Who advocates of the thesis of 'Esse Est Percipi'?
Explain the thesis. 2+8
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